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If f s an integrable function and
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area of the surface obtained by rotating the curve
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If the aver

ege value of the function f(z) = 22 + 1 on the

te

interval [—1,0] is equal to 2, then b =
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area. of the surface generated by rotating the curve
va?— 2 0 < y < a/2, about the y-axis is
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Wy = [(x)is the solution of the initial-value problen

ay . o AN
—e = sec 2w tan 2u, y (\E = 3, then y(0) =
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& The base of a solid is bounded by the curves y = xy =0
and x = 1. If the cross-sections perpendicular to the r-axis
are semi-circles, then the volume of the solid is
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The region bounded by the curve of y = ¥7 and the lines

of the solid generated is

0 and = = 8 is revolved about the r-axis. The volume
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The region bounded by the curve iy = 2% and the line y = 42
i the first quadrant is revolved about the line y = 8. The
volume of the solid generated is given by

(a) ™ /J (27— 162° — 1622 + 642) dx

(b) 7T/O (9 — 1622 + 82t — %) d

N ‘2 - ~ .
(¢) = /} (9 = 2% ~ 62° + 1622 — 247) du
A

N

(d) = j{} (9 + 162° — 8z* + 2%) dr

. 2. i o
(e) =/ (2" = 122° — 2427 + 162) dx
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. The area enclosed by the line y = & — 1 and the parabola,

y? = 22 + 6 is equal to

12 The volume of the solid generated by rotating the region
bounded by the curves y = 22 and 2 = y* about the line
== 2 is given by

v ‘i . - .
(a) 27 /'{:1 2 —2)(x — 2z de
/ ¢ 1 s 2
(b) 27r/(}{2+x)(17 —x)dx
/ 1
) 2n /[ (x— 2)(x* — %) dz
1 .
(d) 27?/0 (2 —2)(z* + 2*) dz

e & } £
(e) 27{/0 (z — z*) du
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of areas, its value is equal to
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14. / 602"Vl + 1de =
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(a) —vV1—2?—sin"'z+C

[

N ey / P 2] a
(b) 3V1—2?~sin'ax+C

o

(d) 2V1— 2 —sinta 4+ O

(e —(1—z2%) —sin 'z +C

L
16. dt =

[ e tan{e') —
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(a) Insecef+el+C

(d) In|sec €|+ e +C

(e) Infsece™|+e"+C
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sin(2x)

/ z{ z+2)(x+1)%de =

In(1 + sin z) dz -
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19. The area of the region R bounded by the graphs

y=1u,y=—,3y~2r+5=0and above the line y = —z
z

is given by

u,):r'm“

(e) Inb-+4

/

20. The lim wawmw / i sint d{}

-0\ 7 — 8in

(a) isequal to 2
(b) is equal to 0
(¢) isequal to
(d) isequal to — =

(e) does not exist

[MASTER]



